Node + mock  Node + FGFR/IgG ~ Node + SU5402

Both methods give the same results...

Secreted, * Transplantcontrol node andthereisa strong ERMI and Sox3.

chimaecic * Transplantnode with chimericreceptorand get no ENRI and sox3 expression (brown stainisthe node).
+ Transplantnode with beads soaked inSU5402 and get no ENRI and sox3 expression.

Find that ERMNland sox3 are actually expressed in events before gastrulation. And FGF8is expressedin
the layerunderneath in the hypoblast.

Transplant hypoblast from really young embryo and into an older
embryo. Get transient expression of several markers after 5 hours. ':'-.I;:-I"";I:'”
V. early, so neural induction is occurring earlier than was originally

though. The markersare lost by 12 hours, suggesting that FGF is
crucial for initiation butis not sufficientto induce wholenervous

system. R
¥ But all lost by 12 hours

Found a gene (ERNI}... know whenitis expressed... know what regulated it... WHAT DOES IT
DO?7? Series of experiments to try an establish this... (thisis really difficultwhenyou don’t
know anything about the protein).

|ndtc| itself viaits coiled region.
we know a protein forms a dimer, and via what
Gn it can be used to make = doMiRant ~ue:

Looking at thestructurel.. is coiled domain potentially used for
binding? Does it bind to itself (dimEfization)
Use of report proteins and GF Dtotesﬁordlmerlzahon“

\, ue—scux
Brown=g

dominant-

Take the dimerization domain and
remove everything else. This causes
that region to bind all the
endogenous protein, Inhibitingit.

When ERNI is inhibited inthe
electroporation line, then sox2
gets expressed outsideits
normal domain of the neural
plate.

Pointmutationsare also useful,
e.g. mutatingthe phosphorylation
site to prevent phosphorylation.

50... Does ERNI act like an inhibitor of Sox2 expression? Therefore maybe the embryo hasan
endogenous inhibitor of ERMIin the right plate.

E! Lo T Cell mamibeacas

Time to find binding partners!
Cytotrap 2-hybrid system

This system usesa 'bait'- in this case the target protein ERMI.
* Usinga library of cDNAs (from early chick np), grow yeaston a stunted

growth medium and transfect with one library clone peryeastcell. Pick yeast that survive to form yeast colonies that
*  Theyeastwill only grow if the 'bait' is bound by one of the proteinsin have proteins which interact with the target protein.
thelibrary. {have to sort out ones which are false positive, which are
»  Bound 'bait' allows GTP activation of RAS allowing the yeastto grow. the majority).

* Ifnot binding partners found thenthe yeastdie.



